RIS o FE K K %

BHERB ST TV,

i

#

AWML — R

7 kM

1.(5%) Suppose that A and B are independent events such that the probability that neither
oceurs ( _{E BS54 W) isa, and P(B) = b ; find P(A).

2.(20%) A random variable X has the following edf (cumulative distribution function) :

0 x<l1
30 1sx<3
Fx) = 40 3<x<4
45 4<x<6
60 6<x<I12
I 12<x
Find (@) P(4=X<6)
(b) P(X26)

3. Let Y be a binomial r.v.(random variable) with parameters n and p,
(a) (5%)What is the p.£f.( probability function, KU UHE p.orf) of Y 2
(b) (10%) Using the probability function, derive(3H4) B[X(X—1D).

4, (10%) R.v. Y has probability density function fy) = (3/2) y*,-1<y=1, find the ¢.d.f. of U
=2-Y. '

5. (20%) X,Y are r.v.’s with joinl pdf f(x,y) =24xy, 0sx=1,0=y=1, x+y <1 > Find
(a) the joint pdf of X+Y and X.
(b) p.d.f. of X+Y.

6. (20%) X~ Poisson( 1)
(a) BH X 22 mef( moment generating function) »
(b) #% X1, X, £ independent Poisson r.v.’s, BT BIES 1, w2 0 KA mgf 2KH X1+ X,
I3

7. (10%) Let X1, X, ..., X, be a random sample from a uniform(0,1) distribution, and let X
be the sample mean. Use the Central Limit Theorem to find 1’(0.45 <X< 0.55) in terms of

the cdf O (x) (FFA NO,DZ cdf ©(x)3R)




